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The figures in the margin indicate full marks
Jor the questions

1. Answer any ten from the following questions :
1x10=10

] 2HERA R (@Il w=biR Ted

{a) Who was the first economist to have
coined the term ‘macroeconomics’?

ST SNSRI e SRR
Ao ffRe 2

(b) What is meant by depreciation cost?

HPHeq J96 T [ 3o IR 2
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(2) '

(c) Distinguish between intermediate goods
and final goods.

< TEN W pere THA WSO M ety
91|

(d) Give one example of transfer payment.
g R <1 T e |

(e) Define gross domestic product.
5 w1 Seefr A i |

()’ What is velocity of circulation of money?
TR efve el 2

(g) What is money supply?
TR @ %2

(h) How does credit creation affecF money
supply?
@ ffd e @ T @ de
o1 ?

() What is liquidity preference?

Ol TR < ?
() Define ‘open market operations’ as a
tool of monetary policy-
a1 M3 fer ot & JHH HfEF S WS
fram |
22A/1097 ( Continued )
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(3)

(k) Distinguish  between demand-pull
inflation and cost-push inflation.

v eefie qErRfe e e @R
TS 123 Fefy 741 |

() Which country is facing ‘hyperinflation’
recently?
Hreifes IS @A (0T g JErRe’
LA 0202 ?

(m) Mention Say’s law of market.

5’3 o9 R Tmy 741 1

(n) State one essential condition of
Keynesian income determination.

PR AW R Serdn v @B Sraw
EZIl
o) In which case is LM curve horizontal?

& oFg® LM @srom Sesfie 2992

2. Answer any five from the following
questions : 2x5=10

o 2R [ I Ao T

(a) Distinguish between real GDP and
nominal GDP.

gFS Y T A HF ARG Jo Tl
AT Trers A1 fefy 1 |
22A/1097 { Turn Over )




(b)

()

(@)

()

(9)

)
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(4)

Mention two types of transactions that
are included in the current account of

balance of payment.

R STeR e R wEge [ TRy
@R A e 9

What do price indices show?
7w e & o ?

Distinguish between net domestic
product and net national product.

W% T S WIE wE B SRS TEO

R

Write any two functions of money.

3uR R e o1 o o |

Whatis _speculativedemand for money?

| R FEerTS Steem 2

Define inflationary gap.

JorRfes F ST i |

What is money multiplier formula?
Y e vace 2

{ Continued )
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3. Answer any four from the following
questions : 5x4=20

O 2AE R Qe BiRGR T oy -

(a) Distinguish between balance of
payment and balance of trade with
example.

TR RS AReTE Wl wre Jian
TSR &S ANFT AT 401

(b) Distinguish between current and capital
accounts of balance of payments.

RN STeR shre o wF Jad RorR
ErS A1 ey 41 1

(¢ How would you measure gross national
expenditure? State the limitations of
this method.

P I T QERE PR AW eRA? R
TafST APz TEy 791 |

(d) Discuss the modern approach to money
supply.
TR QAR CFae SRF GRS Sl
91

(e} Explain the three motives for demand
for money according to Keynes.

@B WS AR SRR R S
A1
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(6)

() What is liquidity trap? Explain jtg

significance on monetary policy.

e T [ 7 Y@ S W SF9 I 37 |

(g) Explain the causes for the shift of the IS
and LM curves.
IS W& LM (391 O TARAS @R FRPR
[P F A

(h) What is fiscal multiplier? What factors
affect fiscal multiplier?
IR @R 7 TSI BIFF JCRIS
1 SR R 192

4. Answer any four from the following
questions : . ) 10x4=40
T AT R @I BifRGR T fea

(a) Explain the various basic issues studied

(b)

22A/1097

“in macroeconomics. -

WWG{WWWWFWW
I

Discuss the process of national income
accounting in an open economy.

& RIS TF. T A AT ST
I
(Continued)

(c)

(d)

(e)
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(7)

.Expla.in the process of circular flow of
Income. In what ways do international

- transactions affect this flow within a

closed economy? 7+3=10

GRE SEW R o N T ¥
W@%@WW-W@W
(LTI ARIS FT 2.

Cﬁﬁcally explain the cash transaction
approach to the quantity theory of

" money.

TR RN e@w ww RN gl
TACTONETFORR WM T |

Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

T R O oS WS T -0 WIF
AT B YRR o 91 S A1 fRefy w4 |
W TR 1 7 9 e

Explain the various tools of monetary
policy. Which one is appropridte to the
developing countries? Give reasons. 8+2=10

= N v wifemz o w11 @R
ﬁ TG (PR IR0 TR ? ARG
|

{ Turn Over )




(9)

(h)

(i

6
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(8)

Define inflation. Explain social costs of
inflation.
Wl i@ ) wreRR s
TR 0 |

Evaluate the Keynesian model of income
determination.

@3 R s ¥R e 4 |

Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

gt aIF @R oW FfRE R T
Wwwmﬁww@%mw
wgferix |

Derive IS and LM curves. Explain their

properties. : 6+4=10

IS SF LM (I31 TORT ST 391 | o9 R
0

* % %

3+7=10
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